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Roll No: |

Participants Name:
Test Center Name: |[Ojas Global Academy

Test Date: 27/04/2016 |
Test Time: 9:00 AM-10:30 AM |

Subject: RRB NTPC Graduate
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 T WAEIT s A, SANT IR #, T 4 T a5 IR T I 4 J9W a0 | A e A

A 12 G
B. 10 8
c 20 ¥l
D 8 WA

Question ID : 9888373050
Status : Not Attempted

Chosen Option : --

Ans x-LA

Q.2 Hudy yraw N gedie & e o, few 9aR F doger & faw wEEat (“Big won”) & ¥ F S Gt #7

A, #FTFH FQAEL (Moo Computer )
B. N FgET ( Minicomputer)
C. #AAGH ( Mainframe )

D, I FEET (Supercomputer)

Question ID : 9888373006
Status : Not Attempted

Chosen Option : --

Ans JT.C

Q.3 100 #H. T @ N IATHR A &1 AfeaH aFqwd AT HIfAT|
A. 500 m?
B. 625 m?
C. 400 m?

Question ID : 9888373051
Status : Not Attempted
Chosen Option : ==

D. 100 m?

Ans x1.D

Question ID : 9888373028
Status : Answered
Chosen Option : 3

'\‘( a ®
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T B ST




X 4B

Q.5 Tt A & &l w gl Weuedl oelz (Piuitary gland) &ain @ifaa #@1 & sar 27

A. AFATES Sedoi® GIATT / Thyrold-stimulating hormone (TSH) Ssamus - Anawersd
B. WdfFed (Prolactin) '
c. &dMRE (Vasopressin) Chosen Option :2

Question ID : 9888373015

D. SRS (Somatostatin)

Ans x1_A
X ac
X 3.8
v N

Q.6 TF MRET 7T 3 # TOGGLE F OTGGEL for@n o § o T#t TT W # KEPLER W Tar foram amoam?

A. EEKLPR Question ID : 9888373060
B. PREEKL "
C. RPEEKL Status : Answered

D. EKLPRE

Ans X‘LA

Chosen Option : 4

;K 2.
X 38
v N

Q.7 @ # W A’ B 7w Rt 7 ¥ faewd oo ]
TUF OF FHEW & G S F 9K Ao §) FRant 7 Rl it & i oaet 6 g Question ID : 9888373088

Status : Not Attempted
A FRan! &t FaiE # S sl & ar aed )

B. HR@H A Gl & aen & Chosen Option : --

C. FRATH F FE FAANAT F X T FAG T2 §)
D, ®REE A oo oF A9 F AW 99 §)

Ans & 1.C
X 2.A
X 3B
o

OF oy reveel 5 SNSRI e TIEK TN DR T S8 SR TN &5 Question ID : 9888373025
A, wATSEIST Status : Answered
B. BIgEISH Chosen Option : 1
C. IR

D. FTH-1 IBAEFEES

Ans «1_[)
X 2.A
K 3.c
X a8

Q.9 i, g St afia wawide @ gdu wdar s de A ot afam ader 4 d A o Réw e SoEEE f
At FE A5 W 2 O R A T ) AT T T W w0 & B @R (e 3 deme Question ID : 9888373039
A5
B. 20 Status : Answered
el Chosen Option : 1

Ans  of 18
X 2.A
X 3D
X ac

Q.10
Question ID : 9888373089

Status : Not Attempted
Chosen Option : --




Foet 1 o Mt R are fawed A & frsad .

ww: T i A R e § R A Bl e o A e a1 s aga oo §

wer @ g fedt el wES wEf qE @l & s A oy faowh & R ol Fw e an ot de @ ow
At 7 =R = &1

A Tre dwem, TR FEE W @ S

B gERt 8 g A, R & ol & s hiEa oA ® e §
c. #nl & e A dueh A

0. f5ed abF F srmgra argem £ smam B oagar g T

Ans Jq_D
X 2.A
X 3.c
X aB

Q.11 v iR x fraftsfe 1 o s Acregfen g §1 4 6t g v (R o Sy A saw der e
o e & A 3 4 s den B aft qfwad & s @ stes o o Bl B oa e @ Question ID : 9888373040
ArEEEFa A W BAL /O A e fifE

A 30
8. 6 Chosen Option : --

C. a5
D. 20

Ans X 1A
;26
X 3B
v N

Comprehension:

TEEHT FT LAW(EF FeqqA FX AN Frfa@d Al & e &

OF asfHal OF e O # deg o1 AR dAg FFU S §) 597 astRAl & AT B, A, WA, el dar 3 dRr
g1 &, gt 3R |l & A A a9 g, dfea #15 3R g B, a0 F ard S ae A g WA, B E
arfest 30T =t 1

SubQuestion No : 12

1
Q2 Ear g Tumer o 48 7 Question ID : 9888373075

Status : Answered

A. F'}GT F S E{I‘f Chosen Option : 3
B. Oar & ad gudr
C. =lgr 3R WA & A=A
D. 1 & &k gt
Ans x1.5

¥ 2c

o

X aA

Comprehension:

TE{ F CAEYET FeAgA FX AR FefafEa waAl & e &

g iRl o e B A deg 61 3R Ag e A8 §1 5a asfRA & am B, Ag, @A, @ered, dar st fia
g1 &ar, agr 3R Wareh & Axg A 781 8, A w15 3R 81 B, I & AW S awer A §) @@, B F
afest 3T atel 1

SubQuestion No : 13
Q.1 @i e s 9 nud A 396 vl dgel o Al T 3 4 @l @ Ea o g ogeny

Status : Not Attempted

3 Question ID : 9888373074
EEEEE Status : Answered
B. ®ar s dw '
c. & 3t Chosen Option : 2
D. 7T A A

Ans1.B




2.C
3.D
4. A

Note: For this question, discrepancy is found in question/answer. So, This
question is ignored for all candidates.

Comprehension:

THE{ F CAEET Fegaa FX AR PfafEe Al & 3R &

og osfhal o e B A deg 61 3R Ag e A8 §1 57 asfRA & am B, Ag, @A, @ered, dar st fia
&1 &, st 3R Al & wew # 761 &, Afea 135 3R & B, d & ad SF aw A &) WA, B S
aifest 30T el &1

SubQuestion No : 14

%G A ¥ S ot F Pl 3 2 Question ID : 9888373076

Status : Answered

A ﬁ?ﬂ' Chosen Option : 1

B. &=t
C. i

D. dr=relt
Ans JTB
N 2.¢c
X 3.A
X 4D

Q.15
200 x 20 x 2 x 0.2 x 0.02 x 0.002 F[ A AT HGT Question ID : 9888373033

A. 0.064 Status : Answered
B. 0.64 Chosen Option : 2
C. 64
D. 640

ans X 1.c
v 2A
X 3B
X 4D

Q.16 f=fafEa fwedt # & yeaftes 2 & e W 3 aet §&a g+

Question ID : 9888373065
Status : Not Attempted
Chosen Option : --

13 12
17 | 15
25 24
29 21 | 20

2|0 |n

om>
w o~

15

Ans  of 1 A
;20
X 3D
X 48

Q.17 |' ]




Ans

x2-8x+12 & IUES :

A. (x+6) (x+2)
B. (x-6) (x+2)
6. i(x=4)=
D. (x+6) (x-2)
X 1.8
v n
X ac
X 4D

Question ID : 9888373048
Status : Not Attempted
Chosen Option : --

Ans

Q.18 e, o &1 s § I et tor o Bren @0 aw, A oo ¥ ol A, e 1 38 {1 o A arn A
&

A TaT
B, @aw
©. wm
o. e At far s e §1

X 1D
vana
X 3B
X ac

Question ID : 9888373072
Status : Answered
Chosen Option : 2

Ans

Q.19 && Feic 2015-16 #, & ¢ M e T=at & & gl @l Swear

A. STH-FHR, doa

B. 3TY 9o, YelE

C. 3y G2, FH-FIR
D. SIF-FHR, FaER

X 1.B
X 2.A
Wac
X 4D

Question ID : 9888372996
Status : Not Attempted
Chosen Option : --

Ans

Q20 \J0.0144 FT A §:

A. 0.12
B. 0.012
. 1.2
D. 0.0012
X 1.8
;% 2.c
X 3.0
v W

Question ID : 9888373029
Status : Answered
Chosen Option : 4

Ans

02 rafat@a & 4 $la @ e ged a3 22

A. 3/4
B. 4/5
C. 5/6
D.7/8
v S
X 2A
X 3B

Question ID : 9888373032

Status : Not Attempted and Mark

ed For Review
Chosen Option : --




X ac

Q22 =) § T @1 AAFA F AHG A FIY T2 AcaF &7

A. MAN
B. WAN

C. g9 (Intranet)
D. Sedac (Internet)
Ans X 1A
v X
;K 2.6
X 4B

Question ID : 9888373004
Status : Answered
Chosen Option : 4

Q.23 faerrel d¢ I8 T & €9 F S AT qEE BE Tg § G §2

A. HiTeT U (mars)
B. die e
C. wr
D. ggFufd (Jupiter)
Ans X 1A
2o
X 3B

K 4.c

Question ID : 9888373023
Status : Not Attempted
Chosen Option : --

Q24 37er aut &1 pH & fhaar glar 87

A. 5531 A
B. 125 1 S1CT
C. 105 a1 Sgiel
D. 8.5 A1 51T
Ans B 1.C
X 2.8
X 3D

v W

Question ID : 9888373026
Status : Answered
Chosen Option : 4

Q.25 wat 931 e Wl BT 1 I 1 IS TEARN & IFaT i AR Ffere)

A. 9298
B. 9892
C. 9292
D. 5288

Ans x1_c
v X
X 3.8
X 4nA

Question ID : 9888373031
Status : Not Attempted
Chosen Option : --

Q.26 @ arel & Hld QAL (Ole Romer) o g # ugell ar way & afq & sar are?

A. 1776
B. 1676
C. 1876
D. 1867

Ans o 18

Question ID : 9888373017
Status : Not Attempted
Chosen Option : --




X 2.A
X 3D
I 4.c

Q.27 205 v m vE Wi uwafl e A v e afte g @ 2wl & o 2 od & aig oW er0 o
T T TR s B S fifae)
A 30%
B. 35%
c 3%
D 25%

Ans  off 1 A
o 2¢C
X 3.8
X 4D

Question ID : 9888373042

Status : Not Attempted and Mark

ed For Review
Chosen Option : --

Q.28 gfe A+B=90° dYT cosB=1/3 §. @l SinA &1 AT g:

S
. 1/4
1/3
. 2/3

Ans «1_[3
X 2D
X 3B
X 4n

OO0 >

Question ID : 9888373054
Status : Not Attempted
Chosen Option :--

02 mger AfEIG, feElG __ &anl Ul TR amn

A. HGFACG Foll Hd UG
B. gAY
c. FaFd
D. 3F=e
Ans XU\
W20
X 3.c
X 4B

Question ID : 9888373009
Status : Not Attempted
Chosen Option : --

Q.30 60 W # 37 F F9 I HUF (FY 2015-16) ¥ Jow =afvaat & v sdmm e armt ge @ don ar
&
A. 2.5 6@ ¥

B. 3 @@ ¥
e, 1.5 ama 59

0.4 @ 94

Ans X 1.C
X 2.8
X3
W 4A

Question ID : 9888372997
Status : Answered
Chosen Option : 4

Q.31

Question ID : 9888373046
Status : Not Attempted
Chosen Option : -~




ferasT S5 o Oig ATl Ugel Uk 3Ter fHel 3,00,000 ¥
rurfaa $r o afg Aegerw H FuRa aiffs &3 5% & 3R
38 39 fAer # 2,50,000 ¥ F 41 g, o 3TF o
gfdera @ar gref?
A. o AT - o BT
B. g1fdl, 10%
C. @9, 12.5%
D. ©Te, 10.0%
Ans 1. A
e:
3.B
4.D

Note: For this question, discrepancy is found in question/answer. So, Thi
s question is ignored for all candidates.

32 ﬁ'}:ﬂﬁ‘@?{ ﬁm ﬂﬁ’g:[ » m‘
9 e TP i‘!’ﬁl Question ID : 9888373064

18 | 24 | 32 Status : Not Attempted

12 14 16 Chosen Option : --

3 ? 4
72 | 112 | 128

2
3
4
5
1

>
2
Xeooms>

D

N 2c
X 3A
v N

33 -
Q33 gifshrare & dag $ QAT T TARRT A9 FAT 87 Question ID : 9888373020

Status : Not Attempted and Mark

A. AT (Majilis ) ed For Review
B. HSITC-3-3 (Majlis—e-Shoora ) s dptlenz-

C. GIEAT-3-HATAH ( Saeima-e-majilis )
D. SifeAT §HG (Jatia Parliament)
Ans x 1.A
e
9 3.C
X 4.0

Q.34 @ Aqew w9 A 2005 W gsts Avwew Afdvaw AE & 3 ("Uniled Natoss Champlons of e Eanh”) TERIR
e & i Question ID : 9888372992

A. - Fehen Status : Not Attempted
8. 9l dadea

c. g A Chosen Option : --
D. T ¥aET

Ans x1-B
v2a
X 3D
X ac

Q.35
Question ID : 9888373021

Status : Answered
Chosen Option : 2




Ans

I A9HET T AT Fhcie giar § 9 Aerg AR F AT AGT AT 87

A. 95 T2l F
B. 97 B F
c.986 23k F
U. 96.8 f3aft F

X 18
W2c
X 3.A
X 4D

Q.36 ‘Which of the following is not true about Frictional force?

Ans

A. Friction is the force which opposes the relative motion of two surfaces in contact.
B. The force of friction that acts when a body is moving (sliding) on a surface is called sliding friction.
C. Friction in machines wastes energy and also causes wear and tear

D. Rolling friction is much more than shiding friction, the uss of ball bearings in a iderably reduces

Friction.

X 1B
X 2A
W30
X ac

Question ID : 9888372990
Status : Answered
Chosen Option : 4

Q.37 ©F ffTT T 3 # STRING F1 TSIRGN Tovar omer & ot 381 T a1 # RANDOM F1 7/ fiven smeam?

A. ANRDMO
B. ARDONM
€. ARDNMO
D. ADRONM

vic
X 2.4
X 3B
X 4D

Question ID : 9888373061
Status : Answered
Chosen Option :1

Q.38 9w st 1 @ § = wEm ww@ A e e, 1z, 16 @ e B o a2 dw ggm

Ans

A, 9984
B. 9985
C. 9986
D. 9987

X 1A
X 28
Wsc
X 4D

Question ID : 9888373035
Status : Answered
Chosen Option : 3

@32 1907 # sReg TacHAar T Fel [aHfad gs M2

A. A
B. &olahcdl
C. Sformiferar

D. afele

Question ID : 9888373014
Status : Answered
Chosen Option : 2

Ans of 1 C
X 2.A
X 3B
X 4D
Q.40

Question ID : 9888373008
Status : Answered
Chosen Option : 4




., 9 Wl O giede Faaurdt g1

A. STfewe

B. gref

C. fexor

D. fgoar
Ans X1_C

X 2D

X 38

o an

Q.41 ?
CDM T YT AT FT § Question ID : 9888373027

A. @lle SGATIHC HPIATH (Clean Development Mechanism) Status : Not Attempted
B. FTde1 SIS AFIAHH (Carbon Degeneration Mechanism) Chosen Option : --

C. F1ea e A (Carbon Degeneration Mission)
D. &her fB9IfRIe AFIWA (Cash Deposit Mechanism)

Ans X 1.C
X 2.0
X 3.8
W a

Q.42 P ko v cand ¥R wn PR B S W oA e il & st R R st A 8 ol o se B
Question ID : 9888373071

Status : Answered
Chosen Option :3

T H FEA ) wHW §?7

A CHIE § P #

B OfF & 3%

C. PHTE & R |
0.5 urd § o w|

Ans x 1.B

2o

X 3.A

X a.c
Comprehension:

farifea T & gea SR afFadt 1, oler Jaa el afFaar w1, B aell safdadt # 3k Ter s3ma
A9 afFaat # quidr 81 38 B #1 eamqds Heras # 3R A Re v geat & 3o} &

11 ‘
12

10

SubQuestion No : 43

A4 SR, e, Ml AR AW afFaar f g Question ID : 9888373081

Status : Answered

Chosen Option : 1

Ans

XS.U.OFJ?’
O W - N WY

N
>




X 3D
X 4B

Comprehension:
farifea T & goa SR afFadt #1, oler Jaa el afFaar w1, B agll safFaat # 3R ger smaa
q@ =afFadt # gufar ¥ @ AT #1 camgds rerae 1 3R A Re v 9ot & 3eaw 3

11 “
12

10

SubQuestion No : 44
Q.4 3a M-2gd, AN cafFaRl 1 d@n 3 A1 d 7§ T & e -
4

- 12
i |
.10

Ans 371.0
X 2.c
X 3.A
X 4B

Question ID : 9888373083
Status : Answered

0O m>

Chosen Option : 1

Comprehension:
fArifea 7 d gea ISR AafFadt w1, ol smad e afFaal #1, B aeld safFaat 1 iR g smad
7@ afFaat & qfar ¥ 30 AT &1 camAgds eaaea #1 3R AY Re v geat & 3o} 3

12

SubQuestion No : 45
Q.4 = m m *-aﬁaqﬂ- T 3
5 N 2@’ 2 3 H-:é % &1 HE g Question ID : 9888373082

3 Status : Answered

9 Chosen Option : 4

10
.

Ans X' 1A
X 2.0
N 3.c
B

oS0 ®>

.46 i i 1
Q.46 Tf 22, x, 88 are in a continued proportion, find the value of x. T —

A .24 Status : Answered

B. 33
C. 44
D. 36

Ans X1.B
X 2.A

Chosen Option : 3




Wac
X 4D

Q47 rorell @l 9¢ 3R QU AT Aol A 4 foAsey ol :

Ans

L CH =
O SleFeX T §l

a3l T el &
forsed:

1. @t sfaex Hed gl

Il. sft Jom SiFe 2

A. Faol fASFY | HFTEIOT FLaT 8l
B. ahael fased || eTEIOT T &
C.ar & | AT Il FTEOT HAT g

D. & @ | & & Il HEIOT FLaT &

X .c
W20
X 38
X 4.A

Question ID : 9888373078
Status : Answered
Chosen Option : 2

Q48 sfgrchr Sy aifel @R FENT AT FTATAETE GRIE T

Ans

_ @ #geaqol 3R 9 W are 9Radel f1 g @
A w@fawe & ®9 A S@ S g,

A. 423 Tt Ifafaas

B. 443 Hai fafeas

C. 743 e sfafaas

D. 73% Haua Jfafas
o 1.6
A
X 3B
X 4D

Question ID : 9888373003
Status : Answered
Chosen Option : 2

Q.49 saRer ypiam ¥ smufa = @ fafia R (ccoogicaly) @ 5w e @ ma ww g

Ans

A, FTO
8. At
©. BReE

D. g
;K 1.6
X 2.8

X 30D
" W

Question ID : 9888373019
Status : Not Attempted
Chosen Option :--

Q.50

Question ID : 9888373000
Status : Not Attempted
Chosen Option : --




gacls, sfteeforar 3R gfdtor anfier & gfafafeaat garr 1909 #
Ffia R TR fhdhe &1 AaUSE Wads Hsd, Addad
AW fohdhe 3 (ICC) & Igel fFg I & Si=r Sirar
ar?

A. ST fiFdhe FIFHE (International Cricket
Conference)

B. Scxaereial fovsbe F13f@a (International Cricket Council)

C. siizer fhde sEfaa (Imperial Cricket Council)

D. i@ e #I=hid (Imperial Cricket Conference)

Ans X 1A
N 2c
v SN
X 4B

Comprehension:

35:

India’s Mutual Funds
25 Investment

30
2423

20

15 1 12.16

10.15 10.22

10 4 . . ¢ : 1"
57
5 -‘J | | P | | |
0 o T T T T T

faraifFa ) 91€ 9 AU wedl F 3eax e :
frafaf@a ar ai¢ gfaar st & 9Ra A =ggarel B3 & fAder & woma # gafar g

1992 1993 1994 1995 12586
SubQuestion No : 51

Q.5 & vra W w53 B A @ 1992 v 19e7 F sl & A &% 3o & o Bran @ Pea @ g
1 Ay w3 e woofit ol & @ e & Frpm o3 frdw 2 fafeee @ w, o ser A A @ =W
aw & avw o A2

AN

B. 0.72
c. 11.28
D. 1.5

Ans X'I-B
N 2.¢
v 3A
X 4D

1997

Question ID : 9888373086
Status : Not Attempted
Chosen Option : --

Comprehension:




faraifFa ) 91€ 9 AU wedl F 3eax e :
frafaf@a ar ai¢ gfaar st & 9Ra A =ggarel B3 & fAder & woma #1 gafar g

35

30

4]

20

15

10

5

0

C I I I

India's Mutual Funds
Investment

2423

12.16
10.15 10.22

1992 1993 1994 1995 1996 1997

SubQuestion No : 52

0é5 1996 ¥ 1997 & 7T ¥RG & TG D3 F WAy # Fraew A Jow A

A. 7.29
B: #:13
C. 8.13
D. TfT

Ans of 1B
X 2.0
X ac
X aa

Question ID : 9888373085
Status : Not Attempted
Chosen Option : --

Comprehension:

faraifea IR 98 @ araRa weal ¥ 3ea) R :
fArafaf@a ar @€ gfaar sk @ sRa # Fgg3rer $3 & fader & o @ aAar gl

35

30

25

20

15

10

5

0

India's Mutual Funds
Investment

2423

12.16
10.15 10.22

J T T T Ll T

1992 1993 1594 1995 1996 1997

SubQuestion No : 53

Q.5 & 7 wafy ¥ chow few o F se F ragae oe ey # gaw wfie ofs oo e

3 A. 1993
B. 1384
C. 1995
D. 1996
Ans x i

2o

Question ID : 9888373087
Status : Answered
Chosen Option : 3




X 3.A
X ac

Q.54 5y afffs g & 10 a9 & T 1800 FIF T TIYUROT AT FAT G ?
%. 900
¥. 450

o= »

%. 1800
D. . 2700

Ans JT.A
X 28
X 3D
X ac

Question ID : 9888373043
Status : Answered
Chosen Option : 1

Q.55 # @ &y UAd TATH (SDSN) T SFIE e e gEwEn, 2015 B @ F g I g

A, 3T
8. Pacerels
c. ymEweE

D. aid
Ans  of 18
X 2.a

X 3D
X ac

Question ID : 9888372998
Status : Answered
Chosen Option : 3

Q56 Frafaf@a fAsedl # § weaAfes ‘24 T+ 9T 3T« arelr

g 941

3 15| 4
38

A 15
B. 18
C. 19

D. 20
Ans x1_A
W28
I a.c
X 4D

Question ID : 9888373062
Status : Answered
Chosen Option : 2

Q.57 5 = dwmt w1 twa 50 1w o de o T o dem & aeeee oo ol s gEh dwn &
AT N §I

A 3
B-3
C.0

Ans x1_D
X 2.A
v &N
X ac

Question ID : 9888373057
Status : Not Attempted
Chosen Option : --

Q.58

Question ID : 9888373068
Status : Not Attempted
Chosen Option :--




Ans

39 fa7 1 94 S 3w g @ e g

3 Flo2lx 2&a
OA = X]| O —
(2)

1) 2 (3) (a)

(
A
B
C
D

£ W -

(7‘.0
X 2.A

X 3B
X ac

% g 5w 1 9@ ggel aARaT A Ay g3 o

Ans

A. U SAaR (Yuri Denver)
B. g S8« (Yuri Johnson)
e Z[«f'f AT { Yuri Malenchenko )
D. 238 Aead® ( David Malenchenk)
vic
X 28
X 3D
X 4.A

Question ID
Status
Chosen Option

19888373024
:Not Attempted

Q.60 A B @ C w6 ®F 784 3 3 G0 A & e wrde £ A R 8 v w wE w0F w9 AT 23/28 59O

Ans

w4t B aagd (5 #) ¢ & wm Y aven 17
A 280

B. 140

c.70

D. 56

X 1o
X 2.A
v &N
X ac

Question ID :
Status:

Chosen Option :

9888373038

Not Attempted and Mark
ed For Review

Q.61 = 3 swcha wgg # At & apg & w0 F e e s v O b w0 st wwfs s

Ans

w1 Mawe &y g@En @ m?

A. Bz
8. s

C. FFEER (FEEa )
D. ¥ 15

X .8
v SN
K a.c
X 4D

Question ID :
:Not Attempted and Mark

Status

Chosen Option :

9888372995

ed For Review

Q.62 Fr=fataa ar syl # & da Sl el a G e vs amma § o o o e @ ala o ol s @

Ans

v g7

A 18 (Coins) :ﬂfﬂ'ﬁﬂﬁiﬁ (Numsmatcs)
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is most electronegative element of the third period of
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A. Sodium, Potassium

B. Magnesium, Aluminium
C. Sodium, Chlorine

D. Aluminium, Chlorine
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Q.71 Fertilisation of sperm with the ovum takes place in ;

A. Uterus
B. Cervix
C. Fallopian Tube
D. Ovary
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Q.77 Zeatin is produced in and d to in the xylem where it promotes cell division

A Shoots, Roots
B, Roots, Shoots
C. Stems, Leaves
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